YEAR 7 — PLACE VALUE AND PRODORTION. ..

What do | need to be able to

do?

By the end of this unit you should be able

to:

+ Convert fluertly between fractions,
decimals & percertages

FDP equivalence

[ o — e — — — — — — — — — — — — — —— — —— —

| Fraction: how many parts of a whole we have

| Decimal: a number with a decimal poirt used to separate. ones, teriths, hundredths efc

|| Percentage: a proportion of a whol represented as a number between O and 100

|I Place. valve. the. numerical value. that a digit has decided by its posttion in the number

|1 Placeholder: a number that occupies ai position to gve vale
[T nterval a range between two numbers

¥ Terth: ore vinok spit into 10 equal parts
| Hundredth: one whole spit into 100 equal parts

| Sector: a part of a circle between two radius (often referred to as looking lke a piece of pie)
|| Recurring: a decimal that repeats in a given pattern

I__________________________l| _______________________
: Tenths and hundredths P gy e I On a number fine
__— Ore hundredth (one ° ) Il
: B whole splt into ® | : i I_'_,: —————— One whole — splt into 10 equal parts
| % 100 i“““'fg’éi) ‘ r / : | One tenth == O]
I < 100 0 ones, 5 tenth and 2 hndredths | |
| 2 0+01+01+01+01+01+001+ 001 || === Oneteth — spit nto 10 equal parts
| =0+05+002 | Onehundedth= L =00
| u - 052 [ 100
| Ore tenth (gue whole spit into 10 equal parts) = 75 = 01 1
==================.I_I_____________________________________________________________
| Fifths Tienly fundredivs Il Percentages on a hundred grid _—
: One \I\/lh0|€ = | I 1007 = a wholel= 100 hundredths
I T On/@ tenth “ 7 hund I/Cdthg ) teﬂthg and 3
| 3 TTTTITTIIT1 I 7 out of 100 hundredtrs
| < 1] é 7/ 63 hundredths
| 2 — g 63/
I Two tenths = one fifth ” = =
[ 1 ™~ — |
L Ore fifth (one whoe splt info 5 equal parts) = = 02 JL 5 hundreaths
_:::::::::::::::::.Il______________________________I____________________________:
| ! . | ) _
Quarters . Il Smpk pie charts I Equivaient fractions
| One quarter (one whole spit into 4 equal parts) = 7 = 025 II I Represent equivaerce vith fraction wals
| I ] Twenty five hundredths II Spit into 10 parts Il
| - — I: - 107 - 36° I: ® Whote
" i 1
| § One whole One half || :| T . I ;I | T
: % : ll ( -05 | Splt into 2 parts 1 — —i— 2
- - 0 ]
| S :: 507 = 180 |:
I / _ Iy O piechart has 360° [ &l r C 3
Ore quarter = 025 | Splt into D parts Il 'BEEENERNENE I
- 1y 5o al FOP cakeulations - 20/ - 760 I BELELEERERTLE
- masm | A maiag
i II_ I_ 12 |12 |12 |72 |12 |12 |12 )12 |12 |12 | 52 |12
- N ____ | ————————
lh-----—-—- - —-"—-"—"—"—"—"—"—"—"—"—"———
| The denominator is represented by EQUOLLY
I sized parts — this is spit into quarters : I M .
- - H 20 This akso 70 out of 100 70 hindedrs
__________________ N e—_— 5 —_— >
r . ) | : 100 means .S%Uweg . =707/
| Fractions — on a number line | 70-100 70 hundredihs
| | | Using = 7 “terths
| i ° | } One whole spit into 18 I : calculator 07
: 0 1 elgbulsaltllfo\?ggenommtor | | m Be careful of recurring decimals
| Ths pont's dt the 6" part : | —=— —»| SZD | Convert toa decimal g 1 -03333333
6 the i 3 -0.3
| o e nimergtor 0 — 3 «— | : This will give you the answer \ x 100 converts to g e
| I8 q 30 | 1 the smpest fom The dot above the 3
-

percertage



